Program no. -----
	Name :                                                                            

Roll No :

Group :



AIM:-
Write a program to multiply tow 16 bit numbers .result should be greater then 16 bits. 
INSTRUMENT REQUIRED :- 

	S.NO.
	Instrument
	Quantity
	Specification

	1-
	Intel 8086 up kit
	01
	Logical address bus 16 bit ,

data bus 16 bit CLOCK  4mhz

	2-
	Registers used 
	
	AX,BX,DX,SI,DI,IP,

	3-
	RAM used
	
	12H byte (18D)


Algorithm:- 

                    N1 (16 bits) * N2 (16 bits) = product (up to 32 bits)
. * Store first 16 bit no. in to two consecutive locations in ram,

* Store second 16 bit no. in other two consecutive locations in ram,

* Move the both nos. in two 16 bit register.

* Multiply the both register value by MUL instruction.

* Move the result from AX register in to next two locations of the ram.

* move the remaining part of result from DX register into other two memory location of the RAM

	Memory locations.
	
	
	descriptions

	Data field 

0200H
0201H

202

203

204

205

206

207


Code field

0300H

0303H

0305H

0307H

0309H

030BH

030DH

030FH

0312H
0314H
	                                       One byte no.

                              Factorial of that no. 

Mnemonics

MOV   SI,0200H

MOV AX,[SI]

INC SI
INC SI

                     MOV BX,SI

MUL BX

MOV DI,204H

MOV DI,AX

INC DI

INC DI

MOV DI, BX

HLT
DEC CL
                 JNZ      lable1
MOV DI,0201H

MOV [DI],AL
HLT
	-----------
-----------
Machine code
BE 00 02
8B  04

46
46 
8B1C
F7,E3

BF,04,02

8905

47

47

89,15
F4

F6 E3

FE C9

75 FA 

BF 01 02

88 05 

F4
	


FLOW CHARD




  SHAPE  \* MERGEFORMAT 



Store the  8 bit no. in to one  locations in ram,





               Assign next location for result.











Move the the no. in AL & CL











Decrement the CL by one to make counter. 





Move the result from AL register in to   RAM.








START





END








Is CL  is zero                     No





       Yes


          





	











Multi ply AL, CL until CL becomes ZERO





Decrement CL by ONE








